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1. O, found in water is called :

1. 1 o 9l S arelt it @) we € -
| (A) Free 02 |

| | C(A) % sifrieE
“‘ (B) Dissolve 02 B) Hfer stierisH
“‘ (C) Ozone ‘ | (C) sirsiF

| (D) Molecular Oxygen A - (D) snftvas siedtsE .
| | -
Lake are highly productive due to nitrate 2. il MEeE W HEhe & wRo S S
|

| |

‘ and phosphate are called :

B R WS W §
(A) Oligotrophic. - (A) sTedfim
(B) Drystrophic (B) sriftm
\ (C) Eutrophic : (C) gt
| (D) None of the above (D) Wi é WS T

3‘ Noise pollution is meausred in : 3. af yguer Sl A S

‘\ (A) mm Hg (A) forcfiiet watt
| (B) MiSec. B) Hevidde
| (C) Decibles (©) 2w
(D) None of the above - D I # & HE T
4.| Which of the following caused skin cancer- 4 THI TN FRFFROTE
@co, (A) =i st
® s, B) wew =t stie
| (C; X-Ray (C) o farit
(D) None of the above D) ST & ¥ 1 T

|
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5. Cause of Ozone depletion :
(A) Ozone
(B) Co,
(C) CFC

D) So,

6.  Which gas is not a Green House Gas :

(A) O,
(B) Co,
(C) So,

(D) CH,

T Woﬂ_d Environment Day celebrated :
(A) 1¢ June
(B) 5" May
(C) 53" June
(D) 6" July
8. Disease caused by Mercury :
(A) Itai-Itai
(B) Minamata
- () Cancer
(D) Typhoid
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SIS €T 1 R ¥

- (A) dNm
- (B) #mE = s

(C) FIRIYARY ey
(D) v =i sifwms

e T wfa g e g
(A) sifRiH

(B) i =% siedE
(C) o TR
(D) =

forear waferer fearm T s
(A) 1

B) s =

(€) s

(D) 6 gomg

T T e A

(A) $erE-$ad

(B) femr=

(C) &=

(D) Trawige
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10.

ite,

12.

The branch of environment which deals with

plani and there relation with the

snvironivient:

L4

(T’-&) Plant ecology
(B) Ecology
(C) Ecosystem

)} Environment science

What is not affected by deforestation

Pt

A) Sail
(B) Plants
{(C) Animals

D) Air-

Energy flow in an ecosystem is :

o~

A) Two direction
(B) One direction
(C) Both

(D) Energy does not flow

Those organisms which eat dead organisms
gonstitute :

{A) Food chain

(B) Food web.

(C) Detritus food chain

(D) None of the above
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10.

11

12.

iRt w1 g v e aRy wd gate %
T o e et §

(A) vy wififeafant
(B) wfifeufat

(C) i TR

o forrfirentor & gt g @
(A) T

(B) W=

© ¥

(D) =3

e 8 e A
(A) 2 Reamai &

®) o faem #

ORIk

(D) v e T @

o Sfter St W gw o 1w ¥ e ¥
() W s

(B) @rgy =

(C) orea W e

(D) 3w § & FE T



13.

14.

15,

16.

'Ihése organisms which eat both plants and
animals are called :

(A) Herbivores

(B) Omnivores

~ (C) Carnivores .

(D) Top Carnivores

Which gas was not present in primitive

_atmosphere :

(A) Co,
®B) 0,
(©) NO,

D) 5o,

Relationship between two _individuals
known as when both are benefited :

(A) Symbiosis

(B) Commensalism

(C) Parasitism

(D) Predator Prey relationship

Which micro-organism are play an
important role in Nitrogen cycle :

(A) Virus

(B) Bacteria

(C) Amoeba

(D) None of the above
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13.

14,

15.

16.

&8 ST Sl gy wE Wiy < Eh § wean
¥

(A) orETd

B) wufer

(C) wirarerdt

(D) = HrawEl

HiFd g s sigHea § =T o .
(A) =197 T8 v

(B) e

(C) o = sTlauds

(D) 5o % sffamEs

3 <&l & it w1 T el ST ShE
w1y Forern & -

(A) FEsfied

(B) Tt

(C) wrsilet

(D) wedt

S YA S S Wk § geveryel yfiem
A

(A) Taomy

(B) Sitar

(C) s |

(D) 39 | | =g 7

PIO.



17.‘

19.

20,

Coalis:

(A) Non Renewable resources
(B) Renewable resources

(C) Both

(D) None of the above

The organism which can re.spire in absence
of oxygen:

(A) Anaerobes Bacteria

(B) Aerobes bacteria

(C) Plants

(D) None of them

Biosphere is :
(A) Atmosphere
(B) Lithosphere
(C) Hydrosphere

(D) All of these

How much % water is present on earth
surface :

(A) 70%

. (B) 80%

(C) 90%

(D) 50%
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19.

20.

HIFA &

(A) s F
(B) TeieRToa S
(C) 3

(D) SRs H & g 7

Gﬂaaﬁw%ﬁmwmmﬁ%:
(A) FrergdTa STy B
(B) Tl Sfary
(C) 9

() v &
Syevee # -

(A) argHSH

B) wEHsA

(C) sersa

(D) IwrE geft
mﬁmsﬁwmaﬁwm% :
(A) 70% |
(B) 80%
(C) 90%

D) 50%



21,

22.

23,

24,

The main cause of loss of biodiversity is :
(A) Habitat loss

(B) Pollution

(C) Hunting

(D) None of these

Mangrove vegetation founds in India :
(A) Narmada

(B) Delta of Ganga

() Eiftilava i

D) Thal desert

Biogasis:
(A) Propane
(B) Methane
(C) LPG.

(D) None of these

The sound level that causé permanent

hearing loss :
(A) 80dB
(B) 70dB
(C) 100dB

(D) 60dB
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21.

22,

23.

24,

SafaTéeT 50 %1 TE SR §
(A) ey famm

(B) wguo

(C) formR

(D) ¥7 | g T

wIRe g o o el # -
@) |

(B) T T

(C) fewrera &

(D) R wEwge

A

(A) W

B) Ha

(C) w. q”r.eﬁ

(D) 3R ¥ § g 7

et T Forry Fw0 TR €9 § G 5 €
S €

(A) 80dB

B) 70dB

(C) 100dB

(D) 60dB

FTO.



27.

. Global warming may cause an impact on :

(A) Increase of diseases
(B) Rise in crop yield |
(C) Change in sea lewvel
(D) All of these

Ozoue layer present in @,
(A) Stratosphere
(B) Ionosphere

.(C) Troposphere

(D) None of these

Wild life institute of India is located at : -

(A) Bhopal
{(B) Shimila
(C) Chennai
(D) Dehradun

Which material is Biodegradabie :
(A) Plastic

(B) Rubber

(C) Paper |

®) Oil

. World AIDS day celebrates on ¢

(A) 31 December
(B) 1 December
(C) 2 October

(D) 31 January
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25.

26.

27.

28.

29.

Siftersh G 1 goe B W ¥
(A) =taifal H sg

(B) Wt sear F gfg

(C) vz el S H ghy
(D) 3w at

SIE ISR TG R T

(A) S

(B) eraTed H

(©) dvwia

(D) vl 3 2
T SRS e e ¥
(A) v |

(B) Rrmen

(C) wmé

(D) <&

T v S e ¥
(A) wnfEs

(B) wr

(C) o= r

(D) a&

fava wgw faw wem s € |
(A) 31 femmr

(B) 1 fewwar

(C) 2 smgaL

(D) 371 S



30, Keola Dev National Park in Rajasthan is 30, e & g Tw R ¥

R | (A) R
(A) Bharaipur "
(B) Dungarpur R
(C) Jaipur (€) 7R
@} Alwar - (D) et
31. Forest cover of Rajasthan is.: | 3i~ Trrer H e S AR A
{A) Evergreen forest : (A) HEEER g
(B) Alpine forest . (B) wadra 5
(C) Xeromorphic thorny forest (C) wegfg siear =9
(D) Temperate forest _ - (D) Tefiersr a7
32. First Biospllere resources of India is : 32, umE I Ea S weE ¥
{A) Nilgii ' (A) @R
(B) Nandadevi - (B) s
{C) Nokrek - i (C) e
(D) Sunderban ' (D) |z
33. Chipko andolan was initiated by : | 33, TRt Svide w1 YEAR R ot
(A) Sunderlal Pandya (A) g=ena dsH
(B) Medha Patekar | (B) Ao R
(C) Sunderlal Bahuguna (C) g sgon
(D) M.C. Mehta (D) T AEm
34. Endangered-Bird Species is : : 34, =i el sl fagg €19 S FOWE
(A) Vulture ; (A) Frg
(B) House Crow | (B) wism
{C) Duck _ {C) waw
(D) House Sparrow . (D) =5y fafem

1209/P/Arts/33110 9 | . PTO.



| 35.

| 36.

39.

"Black Lung" disease is caused due to
mining of :

(4) Gypsum

(B) Marble

(C) Coal

(D) Sandstone

Air pollution may be controlled by :
(A) Plantation

(B) Public awareness

(C) Pubici transport

(D) All of these

. Plants are :

(A) Consumer

(B) Producer

(©) Deconﬁposer

(D) None of the above

Major components of environment are :

(A) Abiotic

(B) Biotic

(C) A&B

(D) Plants -

Lower level of organization of Biosphere is:
(A) Individual

(B) Community

(C) Species

(D) Population
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35.

36.

38.

39.

" emren el e U fRE WeM & SR
BT ® -

(A) Trmg

(B) WHTHT

(C) =rren

(D) W

a1 wen frafia fomen s vl ¥

(A) TR

(B) SHSIHRESRI

(C) S

(D) SRs gt -.

. URYEM T

(A) 39T

(B) s

(C) eromes

(D) 378 & =8 &
AT T A T ¢
(A) swifasw

(B) Sifeer

(C) 3

(D) 9=y

S e 1 T T g
(A) =afE

(B) wH=

(C) sufa

(D) sHEE



40.

41.

42.

43.

44.

L

Main raw material of Biogas is :

(A) Animal Dung .
(B) Plant =
(C) Plastic.

(D) Bacterial |

Source of energy in ecosystem i :
(A) Soil

(B) Water

(C) Sun

(D) Plant

Pyramid of energy in ecosystem will be

~always :

(A) Upright

(B) Inverted

(C) Flat

(D) Oblique

Environment education consist of :
(A) Education above environrﬁent

(B) Education for the environment

(C) Education in or from environment

(D) All of thé above

Tehri Dam is /Siﬁlated atriver :
(A) Yamuna

(B) Ganga

(C) Bhagirathi

D) Narmada
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40. SR w1 g e ¥

41.

(A) vy e

T e o
e T

A

(B) W=y

(C) e

(D) sframy

i # Sl o e wHh
(&) fagt

B) s

©) 7

(D) "Ry

42,

43.

 feta & el s e 2
"}('A) i |

(B) 3=

(C) Traa

(D) Tt
teroy e & winfem §
(A) e 3wt foren
(B) vt & ferw forem

 (C) wferer & qer watew § fa

(D) SwHE |+

44, é?ﬁafafrﬁxﬁﬂé’ru‘zﬁaa% :

(A) 7gT
B) 7
(C) wrieeft
D) ﬁar |

& 1.0,



45. "Taj Mahal” a grea monument-becoming 45, wEE weE e aga ' | e 9w W s R

2l
fe
e

veliowiest due to polludon :
(A) Wagerpoliion (A) v T
(B) Dn pollgion. . o B | (B) = weam
(C) &mi.n.g waste poliution V {©) WT{‘W e

(9)] '\u‘mf «Mﬁhsbt b (D) g8 & =1 e

46. Soil conservation may be ucma,, hy 46, g Heego femar = wema ¥
(A) Mulching - " ) (A) SRR
(B) } c m}u hméﬁ wl | ' (B) wad =y g

m Terracing o o (C) <t Bl

sDj Aii iﬁ?fﬂl@ above e ' (D) SR wl

47. Radiation pollution is caus edby: ‘ 47, Tafwo wgr feud d ¥
(A) Industey ' : (A) 5T

(B) Vehicles (By 4=

{C{} Nuuw Reactors | - . iw sqfoees fiugey

(1Y) Houses | D) =

48. Water conservation method in Western 48. gl T

Rajasthan is : (A) Fom

(A) Kuan o g
‘ (B) =fwr

“WL .E{ m}m@ g

o ol (C) &

€u Khadin

(D; All of these (D) =it

209/ P/Arts/33110 12
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49,

i

[#7]

Lowest layer of aﬁn@sphere is called :
(A) Troposphere

(B) Thermosphere

(C) Stratosphere

(D) Mesosphere

- Thar Desert is located in :

(A) Uttar Pradesh

(B) Rajasthan.

(C) Arunachal Pradesh
D) Gujarat -

Which of the f@lbwiﬂg isnota 1%@%3”31 fuel:
(A) Petroleum R

(B} Dolomite

(C) Natural gas

(D} Coal
Soil fertility is the example of
(A) Inexhaustible Natural resources

{B) Non Renewable mmraﬁ resources

() Renewable namm resources

(D) None of these

Which of the following is national tree of
India:

(A) Bargad Tree

(B) Neem Tree

() Mango Tree

} None of these
5

1209/P/Arts/33110 13

7

A)

eilaTEm

(B) = argHes

(Cj) HHOY q\‘;ﬂl 7

(D) wem Hew

o werer fiva 2.

(A) S W

(B) Toem

(C) 3= waw
(D) gemma

fr=fafgs § 9

(A) Tt
(B) SwmEE
(C) vt g
(D) wren

WW aafa‘ﬁn «JW B

‘«a?"i'ﬁn T:'Erf:" Tc&*w é’ﬁi‘;ﬁ

T g SER ¥

(A)

(B) areirole wrpfas doras

(C) el gfe daem

1873 Wil Hae

fefafiea § 9 ‘:Nm-g‘ a ‘m qr\ﬁq qar

(A)

TS Hi g4

") A g

78 | % gt

Ea%)

Dy Wﬁ:ﬁ T4 =E

P

‘i‘er%’;

. S



| 54.

[

53,

56.

Cause of Industrial waste :

(A) Air pollution
(B) Water pollution
(C) Soil pollution

(D) Allof them

The ratio of oxygen and nitrogen in
atmosphere is :

@Ay3zl

B)1:3 |

© 4:1

D)1:4

Which is the not responsible for land

degradation :

(A) Overgrazing

(B) Afforestation

(C) Exgessivewse of chemicals _

(D) Waterlogging

Electronic waste does nbt in‘cludé -
(A) Television

(B) Solar Cooker

(C) Microwave Oven

(D) Computer

209/P/Arts/33110
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54.

55.

56.

57.

aﬂ%ﬁﬁmm&r@%m%;

(A) =g T

(B) =< wgEw

(C) 73 wgmr,

(D) =it
wﬁaﬁm@hm@ﬁmmﬁm
3

(A)3:1

B)1:3

©4:1

D) 1:4

i 4 Freftecor 3 fore swert @ ¥
@) s

®) e

(C) = =1 Teites 3w

(D) ST

el Sufie # wfinfag @i E .

(A) efifasm

(B) WR g

(C) g&n 71 gw=
(D) =X



58,

39,

60.

61.

Among the following plants which can be
used as a bioindicator of So, pollution in
ambient Air :
(A) Tabacco

B) Spinach

- (C) Tomato

(D) Lichens

Plaster of Paris is obtained from the mineral:
(A) Lime stone
(B). Dolomite

(C) Gypsum

‘ (D) Lignite

~The gas involved in photosynthesis :

(A) Hydrogen
(B) Oxygen
(C) Methane

(D) Carbon di-oxide

Tsunami Disaster of 2004 was the result of:
(A) An Earthquake

(B) Landslide

(C) A super cyclone

(D) None of these

1209/P/Arts/33110 : 13

58. ¥ ¥ FY WY H I So, WG F
Sorgas ¥ w9 F frar st

(A) e
®B) T
©
(D) g

59. R i A frg @i A T Em
(A) T I Teey
(B) SrimEE
(C) e
(D) ferrge

60. wehr Hyers itk ® whiwferq e ¥ .
(A) TS
(B) st
(©)
(D) FESE RS

61. 2004aﬁ§=lﬁéﬂwwm%:
(A)
B) EEeA
(C) feranet ashama
(D) v 2 7

PTO.



“ 62. Manmade ecosystem is : 62. wrg fafa afidw v .
|  {A) Desert (A) TEwE
| (B) Garden (B) a”ﬁ%ﬁ
| (C) River (C) =
(D) Mountain (D) v
| 63. PAN: 63. PAN:
| (A} Per-oxyacetyl nitrate (A) e ufirerer B
~ (B) Pera-oxide nitrate (B) U sifvues w2
| (C) Phynol oxide nitrate (C) firim afeards mgee
(D) Peroxy nitrate (D) e AR
| 64. Source of Marine polhution : 64. T HEE H A L
| (A) Industrial effluent (A) sirifies s:w;'%g
| (B) Oil spillage B) %Wm
(C) Nuclear test (C) wifwarrg wfaqr
| ©) Al (D) s i
65. Steppeis: 65, T ¥ .
| (A) Crop (A) wow
| B) Animals ®) ¥
| (C) Grassland (C) =/ a3
(D) Vehicles D) =
{ 66. Birth rate is the number of children born : 66, S T @ o forypett o) e

‘ ‘('_A_) ufe: 1000 wafw wfa EE]
(B) vt 100 safip gfer o
(C) wia ot fedier iy o
(D) W =i feitet gfiad

| (A) Per 1000 persons per year
(B) Per 100 persons year
1 (C) Per square kilometer per month

(D) Per 10 square kilometer per year

- 1209/P/Arts/33110 16



67. Abiotic factor of environment is : 67. Tt 1 st vew ¥

(A) Insect (A) 2
(B) Plants | B) g
(C) Temperature C(C) T
(D) Al _ (D) =l usft
68.  What type of forest of sunderban are : 68. ﬁzx T UER o
(A) Tropical Dry | (&) 31 7%
(B) Alpine - (B) TewEH
(©) Diy Temperate. (C) Y wiraren

(D) Tidal and swamp (D) wardis a1 geReta

69. Which of the following is not a Biosphere 69. Tr=fafed 3§ & wivar S gved el &3

reserve: o T8 R
(A) Sariska - | ' (A) st
(B) Panchmadi B) et
(C) Kanchanjunga (C) &=msian
(D) Sunderban - (D) g &4
70. Test of AIDS virusis : 70. uew faum) w1 e gl §
(A) Elisa test (A) uferar gftaor
(B) Ribose test ~ (B) g qldam
(C) Western test (C) et s
(D) Immuno test | | ®) TRIAL Tlem

1209/P/Arts/33110 17 PTO.



71.

72.

73.

75,

Intensity of earthquake is measured on :

(A) Richter scale

(B) Celcius scale

(C) Seismology scale
(D) Disaster scale |

The study of data of population is called :

(A) Demography

(B) Datagraphy

~ (C) Population science

(D) Gene science

Largest rainfall place in India :
(A) Leh

(B) Manali

(C) Cherapunjt

(D) Masimam

. Chilka lake is Odisha is famous for :

(A) Water sports

(B) Pollution free water

(C) Wintering place for migratory birds
(D) Salt production

The day celebrated 16 September :
(A) Ozone day

(B) Biodiversity day

(C) Environment day

(D) Tourism day

i 1209/P/Arts/33110
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71.

73,

74.

75.

wﬁﬁw%w%mmﬁﬁ% :
(A) farez Fwrn

(B) dfewas ar

(C) vy ot ST

(D) amam

. SRETeES w1 eI FEART €

(A) SHEEEHT

®) 3ieh HieTehd

(C) smEeEn faam
(D) s o

e 3 exferchem o AT W

(A) T

(B) et

(C) <rgst

(D) wiRH

e = e i for fo e #
(A) SEfa |9

(B) w1 HH S

(C) wfédi H yareh el w1 <81

(D) =T e

16 TR @1 w1 S oren feaw ®
(A) 3l feam

B) o fafaua feag

(C) waterw feur

(D) e fearw



76.

T

78.

79

Endangered bird is :

(A) Myna

(B) Great Indian Bustard (Godawan)
(C) House sparrow

(D) Jungle Crow

Lions are found in which national park :

(A) Dudhwa national park

'(B) Corbett national park

(C) Gir national parks

(D) Ranthabhor National park

Which of the following act is known as "The
Umbrella act" :

(A) The Air Act, 1981

(B) The Environment Act, 1986

(C) The Forest act, 1980

(D) The Water Act, 1974

Keoladev National Park in Rajasthan is
Famous for :

(A) Tiger

(B) Snake

(C) Medicinal Plant

(D) Bid

1209/P/Arts/33110 19

76. Hwe ﬁmn&ﬁ B
(A) F
(B) Tirere
(C) v
(D) Sfrett sHreT

77. fRE T vem H 9 g S ¥
(A) Za=n T sEH
(B) e Tt vam
(©) fir wig sz
(D) 1R gt e

78. =W @ S smen T §
(A) 19 W, 1981
(B) wafaRe =z, 1986
(C) o1 T, 1980
- (D) v T, 1974
79. TSR 1 el 39 TEHE SUH Rag §
(A) 5™
B) wd
(C) iwfir ey
(D) wadt

ETO.



-‘(b‘

—
b3

High percentage of fluoride in drinking 80.

watar eanse |

(A) Deformation of body
(BB) Deformation of Bone
() Deformation of teeth

(D) All these

Natural source of soil polhution : 81.

(A) Detergents’
(B) Agrochermicals
(€ Industrial waste

(D) Animal waste

Which of the following i not a reason of 82.

landshide 7

(A) BigDam
(B) 'Iree Plantation
() Deforestation

(13) Barcthquake

Acid rain occurs normally due to _33-

(A) 802 & NOx
(B) CO2
(C) 02 & H20

(D) NO & O3
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Yorwe § TAREE W 5o ek SeE w
¥

(A) TR =i Tosnla

(B) =fgal = forgia

(C) <l = forfar

D) T Gsft

R TG HI WF R T
(A) TSR

(B) Fu W

(C) it srfmg

(D) ig sTaRIE

 fereffen § & qEeer w0 HR0 T L

(A) = sy

(B) g

(C) =irged

(D) '@

sl =Yl Bl €
(A) SO2 & NOx
®) CO2

(C) 02 & H20 .

(D) NO & 03



84.

86.

87.

The most important indoor air pollutant is :
(A) SO2

B) CO2

(C) Radon Gas

(D). NO2

The Term Ecosystem was coined and
introduced by :

(A) EP Odum

(B) A.G Tansley

(C) R. Mishra

' (D) Darwin

Gas leaked in Bhopal Tragedy was :
{A) Potw;sium isothiocynate

(B) Ethyl isocynate |

(C) Sodium isothiocynate

(D) Methyl isocynate

Which of the following is not a component
of food chain ;

(A) Air

(B) Man

{C) Goats

(D) Plants

1209/P/Arts/33110 21

84.

85..

86.

87.

Tl i 5 wgue E

(A) UTIR S auEs
B) 16w B8 diwEe
(C) ¥ei ftw

(D) Tseom BE Afaane
REGERICA T

(A) ¥ Tt e

(B) ©wsh 9=y

(C) & fasn

(D) wifedw

srarer Frgey # fraver arst T i

(A) TR STEE g e

(B) s9Ee oM8% WP
(D) TRemser enz) wrse

e

g5 W et s e w5 v A

(A) =g

(C) =t

(D) W&

FT.O.



88. The change in the characters of the

89.

90.

organism to adjust to the environment is

calles :

(A) Endenism
(B) Afliciency
(C) Adaptation
(D) Adjustment

Lithosphere made by :
(A) Arr

(B) Soil

(C) Both

(D) None of the above

Globle warming is due to :

(A) 02

| (B) Ozone

1209/P/Arts/33110

(C) CFC
(D) Green House Gases

. Indian ranked in world population :

GRS
B) 2
© 4
D)3

. Pollution cause by vehicles is :

(A) Airpollution
(B) Water pollution
(C) Soil pollution

|- (D) Radioactive pollution |
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88. wafeRu % SR fordll off Sha # o oA

89.

90.

91.

92.

e Bl HEd © ¢
(A) wenferar

- (B) =&

(C) sgem
(D)W“T
TAHSA I T ¢
(A) ag

B) T

(C) i

(D) 57 4§ ®riE Tl

Afyeer a0 gig TR © ¢

(A) stesH

(B) &Sl

(C) FERIUAR FTei

(D) &f@ T8 =

SIEE % SMUN W YRA o fava § e
WHE T

A1

®) 2
© 4

D)3

am-ﬁamaﬁamw@m% 3
(A) =g qgH

(B) o1 wgu™

(C) T=1 w5

(D) TedreHt wg



93.

94,

95,

96.

Natural source of air pollution :
(A) Limekiln
(B) Active Volcano

(C) Fire work

- (D) Brick kiln

Plant growing in desert known as ;-
(A) Xerophytes

(B) Hydrophytes

(C) Mesophytes

(D) None of the above

Laughing gas s :
A) So2
(®B) CO
(C) No2

(D) Co2

Central arid zone research institute is
located at ;
(A) Bikaner

(B) Jodhpur

.(C) Kota

(D) Jaipur
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93.

o4,

95.

96.

AT WEHUI T Whfash T ©
@)

(B) Wbt SeTATIE!

©) aﬁwﬁf

(D) €21 1wz

YA Ty ST e el e § ¢
(A) weefirg
(B) gl
(C) wHIghg

(D) 374 & =ig e

et i ®

(A) HTH T AT

(B) e HF s S

(©) T st
(D) #T&iT K SHfFaEs

HRId Y 9 & FTHYE &g e §
(A) st

B) g

(C) #r

Oy

FToO.



97.

o8,

99,

Water Born Disease is :
(A) Malaria
{B) Chlorela
(C) Typhoid

(D) All ofthem

Which of the soil erosion take place with
slowest speed :

(A) Wind erosion

(B) Marin erosion

(C) Water erosion

(D) Glacial erosion

| State tree of rajasthan :

" (A) Babul

100.

‘\(B) Ker

(C) Khejri

(D) Rohida

Which national park is famous for one

h&\\med rhinoceroses :
(A) Panna

(B) Kaziranga

(©) Bllalldhavgarh

D) éorbett

1209/P/Ar£§/33110

97.

98.

STt W E

(A) weifen

(B) &sn

(C) =

D) 3w |t

HIFE T ST I i v R D d

(A) 97 ST

(B) =t wgum

- (C) @ g

99.

(D) femafe st

T ! To1T JaT & ¢
(A) =gt

B) =

(C) Tt

(D) A=

100.

Fra Uit w9 1R % R s
N |

(A) 71

(B) =i

(C)ﬁ&m

(D) Heie



